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oooooon
X,Y,Z- 0000
Fyix(y|x): X=xe X(Q)DO (Y €(~o0,y]),yc ROODDODOO
XO0O0O0OO vyoooooooo
Fyix : (v,x) € Y(Q) x X(Q) — Fyx(y|x) € [0,1] J

0 xeX(Qon ux(dx) :> 0, ux(x—'e/2,x+e/2)>0for Ve >0
ux(dx) :=0, otherwise
g

X*(Q) := {x € X(Q) | px(dx) > 0}

FY|X(y|X)7y eR
xgX*(Q)0000 J
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gboooboo
X,y zOooooooood

Fxyiz(x,y|z) = Fxz(x|2)Fy|z(y|2), x € X(Q), y € Y(Q), z € Z*(Q())
1

Jo AFx|vz(x|s, z) — Fx|z(x|2)}py|z(ds|z) = 0 ,
x€eX(Q), yeY(Q), ze Z2*(Q)

Fxiyz(xly,z) = Fx|z(x|2), x € X(Q), y € Y*(Q), z€ Z7(2)  (2)
U={U,---,Up}, U;: Q>R 0000000
X,Y0 zOOODOOOOO I(X,Z,Y)

X,Y,ZO X,Y,ZzCcuOoOOOoOoOOO
00O000O00000000000000000

X, YOOO
Z={}

000 (oooo) 0000000000 DO0O00O000DO(@Od 20100 50 60 4 /17
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oooooo (3d)

(0)X(Q), Y(Q)DOODODODODO0O0OX, YO ZOOOOOOO000O
<~

Pxyz(x,y,z) _ Pxz(x,z) Pyz(y,2)

, XxeX(Q),yeY(Q), ze Z*(Q)

Pz(z2)  Pz(2) Pz(z)
(3)
= Pxyz(x,y,z) sz X Z) Pyz(y, z)
;yezy z(Z) erX Z PZ Z) ’
X CX(Q), YCY(Q ),ZEZ(Q) (4)
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Dooooo (D)
(0) Fxjz; Fyiz, Fxyz 0000000000

FX|z=/fX|z(X\Z) dx, FY|Z:/fY|Z(y,Z) dy,

Fxy|z = // fxy|z(x, y|z) dxdy

00 fxz, iz, vz (00000000 DO)000

0 = Fxiz(x[z)Fyz(y|z) — Fxy|z(x,¥|2)
I 2612z tz) — fievia(s. tz)) dsdt

fX\Za fy|z, fxy|z oogooooon

fyiz(x, ¥|z) = fxjz(x|2) fy|z(y|2)
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000 (oooo) 0000000000 DO0O00O000DO(@Od 20100 50 60 7/17



00 2.1

0o 2.1
I¢,,)=1(,-), 00000 g OOODODOOOO
I(X,Z,Y) < I(Y,Z,X), (5)
I(X,Z,Y UW) = (X, Z,Y) A (X, Z, W), (6)
I(X,Z,Y UW) = I(X,ZUW,Y), (7)
I(X,Z,Y) A (X, ZUY, W) =5 I(X,Z,Y UW). (8)
0D000uy(du) >0, uel(Q)DODO000D0
I(X,ZUW,Y)AI(X,ZUY,W) = [(X,Z,Y UW) (9)
0oo ]
SO @R TR ER e O



00 2.1(5)000

I(X,Z,Y)

= Fxyjz(x,¥|z) — Fxz(x|z)Fy|z(y|z) = 0,
xeX(Q), yeY(Q), ze Z*(Q)
— I(Y,Z,X)
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00 2.1(6)000

I(X,Z,Y UW)
= Fxyyzw(x|y,z,w) = Fx z(x|z),
x€X(Q), ye Y (Q), ze Z*(Q2), w e W*(Q)
Fxjyz(xly, z) = Fxjz(x|z),
xeX(Q), yeY*(Q), ze Z*(Q)

Fxjzw(x|z,w) = Fxz(x|2),
x € X(2), z€ Z7(Q2), w € W*(Q)

(Q
= I(X,Z,Y)AI(X,Z,W)
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00 2.1 (7)000

I(X,Z,Y UW)
Fxjyzw(x|y,z, w) = Fxjz(x[2),
€ X(Q), y € Y (Q), z€ Z°(Q), we W Q)
Fxjzw(x|z, w) = Fxz(x|2),
x € X(Q), z € Z(Q), w € W(Q)

= Fxyyzw(xly,z,w) = Fxjzw(x|z, w),
x € X(Q), y € Y'(Q), we Z°(Q), z € W*(Q)
— (X,ZUW,Y)
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00 2.1(8)000

I(X,Z,Y) A I(X,ZUY, W)
Fxjvz(x|y,z) = Fxjz(x|z),
x € X(Q), y € Y (Q), z € Z'(Q)
Fxiyzw(xly, z,w) = Fxjyz(x|y, 2),
x € X(Q), y € YH(Q), z € Z*(Q), w € W (Q)

= Fxyyzw(xly,z,w) = Fxjz(x|2),
X € X(Q), y € Y(Q), z € Z°(Q), we W Q)
— I(X,Z,Y UW)
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00 2.1(9)000

I(X,ZUW,Y) A I(X,ZUY, W)
Fxjyzw(x]y,z,w) = Fxjzw(x|z, w),
x € X(Q), y € YH(Q), z € Z*(Q), w € W Q)

Fxiyzw(x|y,z,w) = Fxjyz(x]y,z),
xeX(Q), ye Y (Q), ze Z*(2), w e W*(Q)

Y,y €Y¥(Q), ww eW(QDODOODO
FX|YZW(X|Ya27W) = FX|YZW(X|y/72’W) = FX\YZW(x|y/7ZaWI)

Fxz(x|2) = Fxjyzw(xly, z, w)
x€X(Q), y € Y (Q), z€ Z'(Q), we WQ),
I(X,Z,Y UW)
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@ (9) = uu(du) 000000000
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00000000
(0)(1)0Oo0

I(X,Z,2) (10)
(5)00000000
I(X,Z,Z) N I(X,Z,Y — Z)

(6). (10). (5). (6), (10),
I(X,Z,Y)

~

(N

(
(
(Y-Z,ZX-Z)NI(Y -Z,Z,Z)
(
(

(10), (8), (5), (10), (8),
I(X-2Z,2,Y - Z)

~

(5)00000000

I(X,Z,Y).
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I(X,Z,Y) <= I(X-Z,Z,Y — Z), (11)
1(X,Z,{}) (12)
O)
X, Y. OO 1/2D01DDDDDDDDDDD
U={X,Y.X+Y,-Y}
X={X}, Y={Y}, Z={X+Y}, W={-Y}O (9)000O

uX=x|X+Y=x+y,Y=y,-Y =—y)
pX=xX+Y=x+y Y=y)
X =xX+Y=x+y,-Y=-y), x,y€{0,1}
I(X,ZUW,Y)AI(X,ZUY,W) 0O
pX=xX+Y =x+y, Y=y, =Y =—y)#uX=x|X+Y =x+y)

I(X,Z,YUW) OO
pu(du) =000 welU(Q)0O000()O0O000O0DN
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